
flllli  3

m33ms1&1+Jwp

(Breakeven Analysis)
(S”,, I t,  ,,

“:.:‘.  1”’  :1,  :_ ” i :::jz.,!  ,:  : ,(:,  _”  (_,,, ,:  :,-,  (” ,,,(
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TR - P.Q

( T o t a l  C o s t a;U:,&& : TC)

J&ppM (Total Fixed Costs) ¶WfiiJ

TC I TFC + TVC



3,000

60,000

30,000

+ 20,000

50,000

10,000

nib
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2,ooo,coo  1ml



(+wU 1hYlM )

mqr; 450,000 620,000 780,000

fGqllilllRql~P'Iu (7W wN%l~~W~) - 315,000 - 434,000 - ,546,000

1t?6,oOo 234,000

fGqlmllt;;l#4X (20% aem.Kpl~) - go,000 - 124,000 '- 156,000

45,000 62,000 78,000

- 62,000 - 62,000 - 62,000

nilrdasmp (17,000) -o- 16,000

my nib
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9 9

20,000

I’ T R



1 0 0

T C m TVC + TFC

d o T C I VQ .I. TFC ( TVC - VQ)



BEP ( tiluvium&o  1 I TFC
p-v

. . . . . . ...*. m

BEP ( duviu3u  rju) I TPC . . . . . . . . . . .
5

(‘III

P

TFCI
(P-V) (ninYnn7rwain~~~urSuviuauBu7u)

x 100 . . . . . . . (RI



BEP i Q,-&,  - TFC
o,v

LlQ,.c  = Q,-  TX
0-v

- T F C TFC
p-v-0-v

I TFC [(P+AP)-“1  -TFC(P-V)
(P-V)  [(PiAPbVJ

I P.TFC+AP.TFC-V.TFC-ETFC+UTFC

(P-V)  [(P+AP)-v



TFCI
(P-V>  ~(P+AP>-V.vr

AP

~~~U~IJLG!II+JI?YU  Pi AQBf - TFC-

(P-VI2- - (P-V)
A P

T R

/ TC’f

V I I
0 QB  QB+AQB  rl%.m



AQBT - TFC +ATFC _ Q
P - V B

P TFC +ATFC TFC
P - V -p-v



1 0 5

BEP' i Q,+ hQ, = TPC
p;(v+dvJ

I TPC(P-V)-TFC[P-(V+AV)~
(P-V,[P-(V+AVlJ

I P.TFC-V.TFC-P.TPC+V.TFC+AV.Tm
(P-V)[P-w+AviJ



1 0 6

P A V.TFC
'7czpzJ

Vf

+ AQ$ = TFC
(P-V? + (P-V)
TF-

BEP

BEP

;Q, = rrc
P-V

rQ,  = 1 5 , 0 0 0  w1-17LI
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-+AQ,)  - TFC
(P-v)+(P-v)2

T

P jO,GOG

(4-2)+(4-2)’
1



1 0 8

I 30,000

(4-212
t - - (4-2)



1 0 9

-d---A------- FC’l
/

0 I
Ir 1

I

/,/ I AQ  ’)I
1

Q
n . AnY S-Y

48,000 mw



1 1 0

P P.Q - (TFC + hQ>

= 1,200 x go-(48,ooo+6ooxgo)

= 6,000 UIM
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50,000
48,000

(PJ)



1 1 2



LIT tmmN~uRY7 mlYlUAl
W&JIM) &#;xJ(Y?M)

rlf.llFY~lnnwlu(lllM)

1. IUVlMUiid (I%) 1,000 600 640,000

2. ~nlwuiid ('in) 250 150 192,Goo

3. ;n LM& (nr  -iad 1 160 80 288,000

4. 250 200 480,000

1,600,OGG



-

I*000  - 600 I 100=40$2
1,000

250 - 150 x 1oomz4oyI
250

* 100=50%

2502;200  s 100=2O%

1,60O,O00 - 100%





TFC

1- -
P



1 1 7



0.25~0.20~100  = 5.0%

0.1ox0.25x100  -2.5%

0.3 x0.3x100 - 9.0%

0.3x 0.25x100 *J&-s

24.0%
-



1 1 9

I 230,000 wb



1 2 0



6,500 u'm

2 , 0 0 0

550

10,000



1 2 2

iMy 2,ooo-1,4ooxlGO =30*0y; 30% - 0.09
2,000

$a:

Gl'nali 550 - 400 xl00 p27.275; 35% = 0.0954550 Fp

LFl~'ilJiUU61;; 1,200-1,0o0~10o  -16.67% $0~ 15% = 0.025
1,200

0,2812







1 2 5

IO,00 15.00 20.00

3 . 5 0 7 . 0 05 . 2 5

6 . 5 0 9 . 7 5 1 3 . 0 0
.,
nup1lr h 5 . 0 0 5.00 5 . 0 0

~,u~,ul,~B~P”Pnr4lu,“,,u,,d~~~a”, 1.50 4.75 8.00

66,666.7 21,052.6 1 2 , 5 0 0
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1 2 7



24  = 1,000,000

Q = 1 ,ooo,ooo
2

= ~OO,OOG Ill



1,000,000

~+hlnman
I 1,000,000+1Q



1 3 0

moaonsi~ (Publicity)



1 3 1



1 3 2

P - 30

V = 8t6=14  MM

TFC - 1,000,000  + 1~000,000

- 2,000,000

I TFC
p-v



1 3 3

= 2Ox400,OOG  - 3,120,OGO  - 8  ( 4 0 0 , 0 0 0 )

P 1,680,000 lml

- 3oxPbo,ooo  - 2,Ooo,OoO  - 1 4  (2GG,OOO)

w 1,2OG,OOG  E17M

= 4 2 6 , 6 6 7  &U
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1 3 6



! ’l,,,,,a,r,
I

I 250 600,000

200  ,OOG

300, COG

4CC,  GO0

5G0,OOG

2,OOG,OOG



1 3 8



I I .  &4n I 100

2. & 160

3. *tNb 200

60 300,000

120 100,000

120 600,000

1 ,GGG,OOO



2,500 60 54

Iii&l]? 800 30 25

nr y-y 700 36 32

iu q 300 30 26
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